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(1)HBEESE (BEIzEHE) W= 245 kg

(2)7>h—RIL +
(©5¥:3 -4 N= 4 *=
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@1 ARSF Y OHIFER (FEIS& D IE A= 78 mi= |18 x10° |n?
OHBEFEERIIBEDIIRY £RI1HHEOT 2 H—RL FOBKR M= 2 &
(3) BHEL YRBELETORS He= 654 = (0.654 |
(4)BET BHAD 5B AR RSy L= 473 Imm=0.473 |m
(5)BRET ZHAD SHLAN FhLh SHBEDLFE TOIEM Le= 236 m(lg<L/2)= 0.236 |m

4. BREHE SEOMAUT2HBEEEEEA L TER)

(1) BEtAKEERE Kh= 2.0
(2) B ANERE Kv=Kh/2= 1.0
(3)ERETHXKTEHE A Fh=Kh-W-9. 8= 4802.0 ‘N

(4) BRFTRSEHEN Fv=Kv-W-9. 8= 2401.0 N
Fh-Hg-(W-9.8-Fv)-Lg

(58)7vh—RIL bDEIIRA Rb= LNt = 3319.8 N
(6)72h—hRIL bOEARA Q=Fh/N= 1200. 5 N

(7)T7 o h—RIL MZET BENE

D3RG HE o =Rb/A= 42.6 MPa< ft=176MPa
@B AMEHE T=0/A= 15.4 MPa< fs=101MPa
@31k EBAMERBFICZIT 2158 fts'=1.4ft-1.6 7= 221.8 \MPa

fzf2L. fts’ Sfto & Efts=fts’, fts' >ftD L Efts=FtTHHDT fts= 176.0 MPa

o= 42.6 MPa < fts= 176.0 MPa

(8)7 v h—HRIL bDIEL R

D7 v h—RL ORI = BIRER VBT on— \
@avyy—roES = 180 = 0180 m
ORI FDBARS = 130 m= | 0130

@ BB RFTE Ta= 5600 N > Rb= 3320 N
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